Commutative Law of Multiplication (A)

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

1x4= 3 x 14 =
4 x18 = §><20:
21 x 30 = 9><%:
4.7 x9.3 = 1.99 x 2 =
78 X t = 93 X p =
s x 51 = fx87 =
qx94 = XX b=
zZX k= dxXn=
Lxhx44=

JXvXx98 =

rxmxyx0.087 =

AXgXcxXw=
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Commutative Law of Multiplication (A) Answers

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

L1x4=4x1 2.3 x 14 =14 x3
3. 4%x18=18 x4 4. £x20=120x%

5. 21 %30 =30 x 21 6. 9X £ =1x9
7.47x93=93x47 8. 1.99 x 2 =2 x1.99
9. 78 xt=1tx78 10. 93 X p=p x93
11. sx51=51xs 12. fx87 =87 xf
13. g X 94 =94 x g 14. X Xb=Db xx

15. zxk=kxz 16. dxn=nxd

17. % X hx44 = h x 44 x % (4 other possibilities)
18. JX VX 98 =v X 98 X j (4 other possibilities)
19. rxmxyx0.087=m xy x0.087 Xr (22other possibilities)

200 AXGgXCXW=0gXcCcXWXdad (22 other possibilities)
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Commutative Law of Multiplication (B)

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

2x5= 1x13=
1x13= 22 x 1=
25 x 1= 42 x 2 =
0.3 x11.9 = s x1.29=
ZXx 82 = 71 xj =
79 X w = rx 58 =
84 X a= SXc=

p x k= yXVv=
hx55x%x 2=

qXxXnx92=

0.091 xbxtxg=

mxfxdxx=
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Commutative Law of Multiplication (B) Answers

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

1. 2x5=5x2 2.1x13=13x1
3. 1x13=13x1 4. 22x 3 =2x22
5.25x1=1x25 6. 42 X 2 =2 x 42
7.03x119=119 x 0.3 8. éx1.29:1.29><%
9. zx82=82x2z 10. 71 xj=jx71

11. 79X w=w x 79 12. rx58=58 xr
13. 84 X a=a x 84 14. SXc=cCXS

15. pxk=kxp 16, YXV=VXYy

17. h x 55 % % =55 X % X h (4 other possibilities)
18. g X N X 92 =n X 92 X g (4 other possibilities)
19. 0.091 xbxtxg=bxtxgx0.091 (22other possibilities)

200 mMX fXdXxx=fxdxXxXxXm (22other possibilities)
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Commutative Law of Multiplication (C)

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

4 x2= 12 x 4 =
21 x5 = %le:
5x36= 8><%:
4.7 x 13.8 = 2 x 1.67 =
m X 65 = g x51=
jx52= 96 X y =
x X 58 = rxa=
tXs= hxv=
kx39x 3=

p X996 X z =

cX fxwx0.089 =

bxnxqxd=
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Commutative Law of Multiplication (C) Answers

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

L 4x2=2x4 2012 x4 =4 %12
3. 21x5=5x21 4.3 x21=21x1
5. 5X36=236x5 6. 8x 1 =1x8

7. 4.7x13.8=138x4.7 8. 2x1.67=1.67x3
9. mx 65 =65 xm 10. g x51=51xg
11. jx52=52xj 12. 96 x y =y x 96
13. x x 58 =58 X x 4. rxa=axr

15. tXs=sxt 16. hxv=vxh

17. kx 39 x % =39 x % X Kk (4 other possibilities)
18. p X 96 X Z=96 X Z X p  (4other possibilities)
19. ¢ XfX w x 0.089 :f>< w X 0.089 X ¢ (22 other possibilities)

20. b X n x q X d=n X q X d X b (22 other possibilities)
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Commutative Law of Multiplication (D)

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

1x3= 3 X9 =
4 x 23 = %ngz
42 x 25 = 2 x 37 =
5.7 x11.7 = £ x1.94 =
jx76 = 67 Xy =
71 xv= 71 X b =
q X 69 = gXXx=
hxc= wXn=
tx 44 x 3 =

86 xr x k=

axdx0.08xp=

mxzxsxf=
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Commutative Law of Multiplication (D) Answers

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

1.1x3=3x1 2.3x9=9x3

3. 4x23=23x4 4.4 x23=23x1

5. 42 x 25 = 25 x 42 6. 2x37=37x2

7. 5.7x11.7=11.7 x 5.7 8 1x194=194x1

9. JX76 =76 x| 10. 67 Xy =y x 67
11. 71 xv=vx71 12. 71 xb=>b x71
13. g X 69 =69 x g 14, gXX=XXg

15. hxc=cxh 16, wWXn=nxw

17. t X 44 X % =44 x % X € (4 other possibilities)
18. 86 X r x k=r x k X 86 (4 other possibilities)
19. a x dx 0.08 x p = d x 0.08 x p X a (22 other possibilities)

200 MXZXSXf=2ZXSX[Xm (22otherpossibilities)
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Commutative Law of Multiplication (E)

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

1x5= 8x2=

7 X 22 = §><21:
20 x 30 = 35><%:
48 x10.4 = 1.68><%:
b x 85 = 73 X k =
rx95 = xx 81 =
sx 92 = fxq=
yxg= CXZ=
WX 46 X 2 =

txdx96 =

pxaxvx0.084 =

mxhxjxn=
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Commutative Law of Multiplication (E) Answers

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

1. 1x5=5x1 2. 8x2=2x8

3. 7Xx22=22x7 4. $x21=21x¢%

5.20 X 30 =30 x 20 6. 35x 3 =4 x 35

7. 4.8x10.4 =104 x 4.8 8. 1.68x 3 =2 x1.68
9. bx85=85xDb 10. 73 x k=kx73
11. rx95=95xr 12. x x 81 =81 xx
13. X 92=92 xs 14 fxq=qxf

15. Yy Xg=9gXx)y 16. cXzZz=2zZX¢c¢C

17. WX 46 X % =46 X % X W (4 other possibilities)
18. tXdX96 =d X 96 X t (4other possibilities)
19. pxaxvx0.084=axvx0.084 xXp (22other possibilities)

200 mMX hXjXn=hxXjXxXnxm (22otherpossibilities)
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Commutative Law of Multiplication (F)

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

1 x5 = 15 x 6 =
11 x 24 = 25 x 1 =
50 x 9 = 39 x 3 =
2.1 x11.6 = 1.7 x 3 =
82 xc= s X 96 =
rx62= d X 59 =
nx>53= YyX W=
jxm= axg—
px35x32=

XX bx97 =

t x kxqx0.084 =

ZXfXVvXh=
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Commutative Law of Multiplication (F) Answers

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

1. 1x5=5x1 2.15x6=6x15
3011 x 24 =24 x 11 4. 25 x 3 =1 %25
5.50 x 9 =9 x 50 6. 39 x 3 =2x39
7.21x11.6 =116 x 2.1 8. 1.7x32=2x17
9. 82 X c=cx82 10. X 96 =96 x s
11. rx62=062xr 12..d x 59 =59 x d
13. nx 53 =53 xn 14. Yy XW=WXYy

15. JXm=mx]j 16, axXxg=gxa

17. p X 35 X % =35 x % X D (4 other possibilities)
18. X X b X 97 = b X 97 X X (4 other possibilities)
19. tX kxqx0.084=kxqx0.084 xt (22otherpossibilities)

20. ZX fXVXh=fXVXhXz (22otherpossibilities)
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Commutative Law of Multiplication (G)

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

1x3= 11 x1=
2x21= 18 x =
43 x 20 = 50><%:
7.3 x 8.7 = 1.71 x £ =
sx91 = 61 X w=
65 X k= 96 X q =
60 X n = XX f=
axy= pXc=
65 X £ X m =

bxvx69 =

hxzx0.076 xd=

tXgXjXr=
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Commutative Law of Multiplication (G) Answers

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

1L 1x3=3x1 2. 11x1=1x11
3.2x21=21x2 4. 18 x Z=£x18

5. 43 x 20 =20 x 43 6. 50 x 1 =1 x50

7. 73x87=87x73 8. 1.71x §=1x 171
9. §sx91 =91 xs 10. 61 xw=w x 61
11. 65 x k=k x 65 12. 96 x q = q x 96
13. 60 x n=n x 60 14, XX f=fxx

15. aXy=yXxa 16. pXCcC=CXDp

17. 65 X % Xm= % X m X 65 (4 other possibilities)
18. b X VX 69 =v X 69 X Db (4other possibilities)

19. hxzx 0076 xd=2zx0.076 xd x h (22 other possibilities)

20, tXgXJXr=gXJjXrXxXt (22otherpossibilities)
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Commutative Law of Multiplication (H)

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

5x2= 12 x7 =
5x19 = 19x 1=
25 x 10 = 1x46 =
13.5 x 4.1 = 144x§:
97 X x = g X 56 =
88 x h = 64 X f=
cXxX75= nxm=
dxr= qxs=
53X 3 X t=

93 Xy X p=

vx0.099 xwx k=

bxzxjxa=
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Commutative Law of Multiplication (H) Answers

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

1. 5x2=2x5 2.12x7=7x12

3. 5x19=19 x5 4. 19x £ =1x19

5.25x 10 =10 x 25 6. 3 X 46 =46 X ¢
7.13.5x4.1=4.1x135 8. 1.44x =1 x 144
9. 97 x x =x x 97 10. g X 56 =56 x g
11. 88 x h=nh x 88 12. 64 X f=[fx 64
13. ¢x75=75xc¢ 4. nXm=mxn
15.dxr=rxd 16. g X S=5Xq

17. 53 x % X t= % X t X 53 (4 other possibilities)
18. 93 Xy X p=y X p X 93 (4other possibilities)
19. vX 0.099 x w x k=0.099 x w x k X v (22 other possibilities)

20 bXzXjXa=zXjxaxb (22otherpossibilities)
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Commutative Law of Multiplication (I)

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

1x5= 10 x 7 =
23 x 2= 18 x 2 =
20 x 44 = Sx9=
4.4 x12.6 = 1xg=
51 xv= g %X 59 =
98 xy = 69 X w =
k x 53 = fxj=

CXp= qXxXx=

40 x 2 xd =

71 XzXm=

txsxbx0.087=

hxaxrxn=
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Commutative Law of Multiplication (I) Answers

Name:

Date:

Write each expression in a different way using the Commutative Law of Multiplication.

1.

11.

13.

15.

17.

18.

19.

20.

1x5=5x1

23 X 2=2x123

.20 X 44 = 44 < 20

44 x12.6 =126 x 4.4

51 xv=vx51

98 x y =y x 98

kx53=53xk

CXp=pXxXc

40 x 2 xd=2xd x40

71 xzxm=zxmx71

Example: 4 x 5

2

10.

12.

14

16.

=5x4

. 10x 7 =7 x 10
4 _ 4
18><§_§><18

5..09_95
6X9_9><6

gx59=59 xg
69 X w=w x 69
fxj=ixf

qXxXXxX=xxXq

(4 other possibilities)

(4 other possibilities)

txsxbx0087=sxbx0.087xt

hxaxrxn=axrxnxh

(22 other possibilities)

(22 other possibilities)
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Commutative Law of Multiplication (])

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

I3Ix1= 6 x 11 =
8 x 14 = 24 x § =
25 x 41 = 11><§:
1.9 x 10.3 = 1.11><g:
Jj x50 = fx75=
8l xc= 60 X m =
k x 65 = qXxx=
txd= bxy=
46 x 2 xn=

g xXrx98 =

0.088 xhxaxp=

ZXSXWXV=
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Commutative Law of Multiplication (J) Answers

Name: Date:

Write each expression in a different way using the Commutative Law of Multiplication.
Example: 4 x 5=5 x4

1.3x1=1x3 2. 6x11=11x6
3. 8x14=14x8 4. 24 x T =12 x24

5. 25X 41 =41 x 25 6. 11 x ¢ =1x11
7.1.9%x103=103x 1.9 8 1.11x 2 =2 x 1.11
9. jx50=50xj 10. fXx75=75xf
11. 81 X c=cx 81 12. 60 x m=m x 60
13. k x 65 =65 xk 14 g XXx=xxq

5. txd=dxt 16. bXxy=yxb

17. 46 X % X n= % X N X 46 (4 other possibilities)
18. g Xrx98 =rx98 X g (4otherpossibilities)

19. 0.088 x hxaxp=hxaxpx0.088 (22other possibilities)

200 ZXSXWXV=SXWXVXZ (22 other possibilities)
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